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1) s AttemptQ. No. 1or Q. No. 2,Q.No.3or Q.No. 4, Q.No. 50rQ No\6and
QMo 7or Q.No 8.

2)\./NeatGiagrams must be drawn wherever necessary.
3) Figurfesto theright indicate full marks.
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4) _Assume suitable data, if necessary. ,)’7)\
Explain in brief Compile and Go loading gcherhe What are advantages
and disadvantages of it. P A\ [10]
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Describe the concept of DLL2H ’QW q;(narm c linking can be donewith or
without import. [8]

;)
Write short notes o < " \ [10]
1)  Subrouti neLmkage
1)) Overlays '
With the\hel piof diagfam explain General Loading Scheme. [8]

y

P 4
“Liét different types of Operating Systems? Describg.ahy two'of them.[9]

Differentiate Preemptive and non preemptiveScheduling. [8]
OR
What istime quantum and its significancéin Round robin scheduling.[9]

Explain multithreaded mode and Process€ontrol block indetail.  [8]
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What issemaphore? Justify how semephoreisused to solvecritical section

problem. [10]

Explain necessary conditions,for occurrence of deadlock. [8]
OR

Explain hardwzre approach for Mutual Exclusion with itsadvantagesand

disadvantages. [10]

Writeasol ution to Reader Writer problem using Semaphor | eaders

havepriority. ' [8]

9
&OOK and 600K (in

worst fit algo. Place
rder)?Which also makes

[9]

Givery a memory partitions of 100K, 500K, 2
erder), how would each of the first fit, b \
processesof size212K, 417K, 11242

the most efficient use of memory.Q

What is internal fragment\plain same with suitable diagram/

example. \ [8]
2

OR
Writeand exp@l ock’Avoidance BankersAlgorithm. [9]

Com%%gi ng,and Segmentation with the hel p of example. [8]
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